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You have to enter your Roll Number on the Test Booklet in the Box provided
alongside.DONOT write anything else on the Test Booklet.

This Test Booklet contains 50 questions. Each item is printed both in Hindi and
English. Each comprises four responses (answers ). You will select the response which you want to mark on the Answer
Sheet. In case you feel that there is more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONEresponseforeachitem.

Youhavetomark all your responses ONLY on the separate Answer Sheet provided. See directions in the Answer Sheet.

All questions carry equal marks.

Penalty for wrong answeres:

THEREWILLBEPENALTYFORWRONGANSWERSMARKED BY ACANDIDATEINALLTHE QUESTIONS

There are four alternatives for the answer to every question. For each question for which a wrong answer is given by the
candidate, one-third of the marks assigned to that question will be deducted as penalty. If a candidate gives more than one answer,
it will be treated as a wrong answer even if one of the given answers happens to be correct and there will be same penalty as above
tothat question.If aquestionisleftblank,i.e.,noanswer is given by the candidate, there will be no penalty for that question.
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TestPaper

YRd o "AHa faemm feg guit & smar Q1.

z-

(a) 3o HFG g

(b) HeH HAd fasm
(¢) = ama foewrg
(d) I HeIH A [

ORE § o9 il & W WAt IR i &l Q 2.

2?
(a) URAR (b)
(c) &R (d)

.
et &t

AT T hH I A- Q3.

(a) fridaEae

(b) YT T &

(¢) TR T agd &
(d) 379 31 GDP §& &

ORaH A T agarHar | (TSade) Q4.

Hatferes uTs T B -

(a) W@E (b) forem

(c) @& uqTd () uRaed

Frafatad wuAl W) faem wifsE- Q5.

1. ARAH AR AT FARI @R |

2. YN H ™ H fawwad wH ow W og
U T W IH-91/4 HH IRd o o R &
fRae/e ?

(a) a1

(b) dhael 2

(¢) 1323

(d) TdA1TE2

WS & W fRwr =t @ ufEdat & Qe.

ofa-

(a) 3iftres SRR 8l ST e |
(b) FHACCR IS E |

(¢c) A SARER e SR
(d) TS Fel Tl < Tehell € |

Human development of India comes under
which category-

(a) High human development

(b) Moderate human development

(c) Low human development

(d) High medium human growth

Who contributes the most to the rate of savings
in India ?

(a) Household (b)
(c) Government (d)

Companies
Private Sector

By reducing direct tax-

(a) export increases

(b) consumption increases

(¢) Government spending increases
(d) Consumption and GDP increase

Engel elasticity has been found the most in which
of the following goods or services in India-

(a) Health (b)
(¢) Food (d)

Education
Transport

Consider the following statements:

1. Gender inequality is decreasing in India.

2. Incomeinequalities aredecreasing inIndia.
Which of the above statements is/are true for
India?

(a) 1only

(b) 2only

(c¢) Both1and?

(d) Neither 1 Nor 2

During recession, investment in relation to
interest rate-

(a) becomes more elastic.

(b) becomes less elastic.

(c) becomes less inelastic.

(d) Nothing can be said.




Q7.

Q8.

Q9.

Q 10.

Q 11.

Q 12.

Q 13.

1 o sreTEm s Q7.
1. fafd, GDPERR |

2. ffa, SRR

ST ® ¥ &E-"/¥ wUT  HA

2?2

(a) hael 1 (b) hael2

(¢) 13R2TA (d) < T

= | 9 form Tou/shesoniaa UeeT § ST @t Q8.
e SAfeRT ST Watfres & ?

(a) T (b) Tafrrw

(c) foeett () <Ere

T & @ SI-Hf ¥4 9Ra & GDP § 9aifes Q9.
e et 2-

(a) SR, Bred, URaed, Fer 3t

(b) for, Raet Re, Witherel Heard 3

(c) TR T

(d) &

Y a-R o8 § IRT B TRAR gg e Q 10.
T R?

(a) 2020-21 (b)  1979-80

(¢) 1957-58 (d) 2019-20

T & @ I Gt &Y ScaTaehdT oht eRid hear @ 11.
2?7

(a) GDP

(b) ==

(c) g Ysi Scre 3 (I0CR)

(d) femt

frafafea g deA-arad e ? Q 12.

() fEw o = ® # faodd d&dw @
(b) i#%ﬂ W o R® A G W& e
(c) iéhﬂ IR WS W A FE WM T A
(d) f;ﬁfiﬁﬁhnagﬂﬁﬁn%|

W Ugelt O hel [SfeTa Sier Stefeaasenss  Q 13.

TS?
(a) 2007 (b) 2011
(¢) 2017 (d) 2018

Consider the following statements:
1. Exportsincrease GDP.
2. Exportsincreaseemployment

Which of the statement given above
statementis/aretrue ?
(b)
(d)

Which of the following states/UT has the highest
per capita income?
(a) Goa

(c¢) Delhi

(a) 1only
(c) both 1and 2

2 only
both not

(b)
(d)

Sikkim
Chandigarh

Which one of the following services contributes
largest to India's GDP ?

(a) trade, hotel, transport, storage etc.

(b) Finance, real estate, professional services etc.
(c) Public Administration

(d) Defense

In which the following year, India did not pass
through a negative growth rate ?

(a) 2020-21 (b) 1979-80

(c) 1957-58 (a) 2019-20

Whichofthefollowingrepresentsthe productivity
of capital ?

(a) GDP

(b) Savings

(¢) Incremental Capital Output (ICOR)

(d) Investment

Which of the following is true/correct ?

(a) There is an inverse relationship between
investment and interest rate.

(b) There
investment and interest rate.

is a direct relationship between

(¢) There is no relation between investment and
interest rate.
(d) Investment goes up in recession.

When did India become a trillion dollar economy
for the first time ?
(a) 2007
(c) 2017

(b)
(d)

20M
2018
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Q 14.

Q 15.

Q 16.

Q17.

Q 18.
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Base Erosion & Profit Shifting T @o& Q 14. Base Erosion & Profit Shifting With

-

(a) Tax Planning
(b) Tax Efficiency
(c) Tax Avoidance
(d) Tax Evasion

Trafafad w faar wifse-
1. e
2. faferest

3. IR

E"TQ‘W # ¥ @1 Non Debt Reciept T
ISR B/~

(a) hael1 (b) ohdd 2
(¢) 132 (d) 1,233
Fr=fafae et W faam St

1. BRICS T H =9 & &g YR qORt Ta ot
sreferaeeng |

2 =i9 %1 GDP foa &t 311 srefeqaensii & Fa
GDP Y3z |

SUYe  wegAl W wE-ET/R WE
g7

(a) &ad1 (b) ohae 2
(¢) 13R28M (d) =d1,782
Frafafaa wuat w faamr S

1. YA A H A TSI |
2. AT SR T STl AT H FHATGAE |

Suded wudAl W wHE-@r / # WE
?

(a) had 1

(b) ohadl 2

(¢) 13K 23H

(d) Fdi1, 982

Trafaiaa st o faem it
1. FrafaGDP HIvMfaaTE T |
2. GDPfEfdim i TEisae |

Suded ®¥Aal ® wH-@r [ W W
77

(a) hael 1 (b)
(¢) 13R23  (4)

Had 2

T, TE 2

relation to-

(a) Tax Planning
(b) Tax Efficiency
(c) Tax Avoidance
(d) Tax Evasion

. Consider the following-

1. Customs
2. Disinvestment
3. Incometax

Which of the above is/are examples

of Non Debt Receipt ?
(a) Only1 (b) only?2
(¢c) 1and?2 (d) 1,2and3

Consider the following statements:

1. India is the second largest economy after
Chinaamong the BRICS nations.

GDP of China is more than the total GDP of
other BRICS economies.

N

Which of the statements given above is/are
correct ?

(a) 1only (b) 2 only

(¢c) Both1and2 (d)  Neither 1 Nor 2

Consider the following statements:
1. Consumption andsaving increase with income.
2. Consumptionandsavingsgrowlessthanincome.

Which of the statements given above is/
arecorrect ?

(a) 1only

(b) 2only

(¢) 1and?2

(d) Neither 1 Nor 2

Consider the following statements:
1. Exportsdonotaffect GDP.
2. GDPdoesnotaffectexports.

Which of the statements given above is/are
correct?

(a) 1only (b) 2 only

(¢) Both1and2 (d) Neither 1 Nor 2




Q 19. ﬁw%rﬁaammﬁwﬁﬁq Q 19. Consider the following statements:

1. \ﬂIé‘IIdQGDP ®|<5d|§| 1. Importincreases GDP.
2. GDP'@%TITI'IT'[ WW% | 2. GDPincreasesimports.
Suded wYAt | wE-ET [ ¥ W Which of the statements given above is/are
&7 correct ?
(a) e 1 (b) e 2 (a) 1only (b) 2 only
(¢) 18R23TA (d) Fd1,982 (c) Both1and2 (d)  Neither 1 Nor 2
Q 20. ﬁw%@amﬁwﬁwﬂm Q 20. Consider the following statements:
1. ER{'L?:?I I i 1. Falling prices of commodities
2. GDP I 2. Decreasein GDP
E"Téff?:ﬁ 79 " - feafa IEVEE Which of the above conditions is can be
(Depression ) & SR TG ATHHATE ? seenduring depression ?
(a) el 1 (b) e 2 (a) 1only (b) 2 only
(¢) 13R2TE (d) Fa@1, 782 (c) Both1and2 (d)  Neither 1 Nor 2
Q 21. WWEﬁ'%W?&ﬁ'@WﬁW,W Q21. The term 'decoupling' which was recently in the
Hefras? news is related to ?
(a) GST (a) GST
(b) IR IR (b) stock market
(¢c) GDP (c) GDP
(d) YIRA 1 ST STTaEn o gey (d) India's relation to the international economy
Q 22. ﬁwi%rﬁaammﬁwﬁﬁq Q22. Consider the following statements:
1. &ANTR <=h\| hH Tl 1. Reducingthe interestrate
2. wr?raﬁrééw 2. Selling governmentbonds
aﬁdmnﬁﬁamw@wﬁﬁﬁ#—mm Whichof the above steps could takes atthe
WTGTWT/W%/?? time of an economicrecession ?
(a) el 1 (a) 1only
(b) had 2 (b) 2 only
(c) 1 3K 2 2FT (c) Tand?2
(d) Fd1, 982 (d) Neither 1 Nor 2
Q 23. fava S &% IHER NG fohT TR &1 WE  Q23.  According to the World Bank, what type of nation
2? is India ?
(a) = HYH 3 T (a) Upper middle income nation
(b) =1 Hoy s U (b) Lower middle income nation
(¢) SHITTE (c) High Income Nation
(d) = smaase (d) Low Income Nation
Q 24. HRA = Wﬁ'&ﬁ faerr w1 Gt ) forg et Q24. In which five year plan has the goal of inclusive
TSI H TET TR ? development in India been set ?
(a) 11 (b) 104 (a) 1th (b)  10th
(c) sdf () 74 (c) 8th (d) 7th
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Q 25.

Q 26.

Q 27.

Q 28.

Q 29.

Q 30.

Q 31.
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Frafafed w faer st

1. Il R EISTel W hg SedTe ok

2. eI SR SIS WIS & o

Sudad ® ¥ frd wreT 0 weT S Hehar
2?2

(a) ael1 (b) a2

(¢) 18R28M  (d) Hd1, 82

TR H ERT GDP I TR ST Shl ST T Uget
HAHE TS ?

N
g
N
|

(a) 2009 (b) 2015

(c) 2018 (d) 2017

T S hI - ETET SRR ah e STagaaharait
= feErar2-

(a) VST =

(b) WA =T

(¢) W YeTed =eT

(d) T =T

Who Moved My Interest Rate \THeh J&ich
FATHFRAE?

(a) S.g=RE  (b) TIIHISH
(¢c) TRISH () e s

AT o <1 ferehre ot feret TuTeiifer <At oIy e TaT
27

(a) SUHAT e

(b) fafa smenRa

(¢) fraw smafa

(d) TN G neRa

frmfefiaa & @ s d Tt e Ao @t faf
27
(a)
(b)

= fofyr
3 fafyr
(¢) < fafa

(d) 3o it

freferRRaa | | i |1 U 311 T W el
22
(a)
(b)
(c)
(d)

Sk o

TN = W A

YIS ST T U 4TS ! ¥

fep OiRaR g1 agelt e Tarsit i wie % fore fanadt
w4 ! foR T ST

Q 25.

Q 26.

Q 27.

Q 28.

Q 29.

Q 30.

Q31.

Consider the following-
1. Central Excise Duty on Petrol and Diesel
2. Statelevel VAT onpetroland diesel

Which of the above can be called a carbon

tax?
(a) 1only (b) 2 only
(¢) 1and?2 (d) Neither 1 Nor 2

When, for the first time, did India talk about
implementing Green GDP ?
(a) 2009 (b)
(c) 2018 (d)

Which of the following deficit includes the debt
allowance of the government ?

(a) fiscal deficit

(b) primary deficit

2015
2017

(c) impressive revenue deficit
(d) revenue deficit

Who is the author of the book, Who Moved My
Interest Rate ?

(a) D.Subbarao
(c) Rangarajan

(b)
(d)

Raghuram Rajan
Viral Acharya

Which development strategy is China currently
implementing ?

(a) Consumption based

(b) Export based

(¢) Investment based

(d) Government expenditure based

Which of the following is a method to measure the
National Income ?

(a) Expenditure method

(b) Income method

(¢) Product method

(d) All of the above

Which of the following is not a part of the National

Income ?

(a) Undistributed profits

(b) Income from government expenditure

(c) The interest amount on the unproductive national debt

(d) The payments made by a household to a firm for
purchasing goods and services

KeS{@)IAS|



Q 32.

Q 33.

Q 34.

Q 35.

Q 36.

Q 37.

Q 38.

WRAH GV A T 0T fmar SArar
(a) &5 ferepra a3 o ferg

(b) FeRFTE

(¢) GST & R0 H

(d) T

A RA-aTa, SUE e ?
(a) iR (b) FEIH
(c) SARYH  (d) ¥t

Tfe ST Wi o i e -
(a) & FEe ARSI |

(b) e fafree o ST € |

(¢) frromn ¥ soem waw 2 &

(d) ¥ 3= femT AR ST 2 |

Y P-TT R T e ?

(a) WRA # o9 A R, od=d W W ¥ FE
2l

(b) Fod o W fEw # w® 9§ F=
2l

(¢c) THIREREI

(d) 37dF H 9 HE TE

I TR W T 7 9 fFT GDP FeTSar Q 36.

&2

(a) oA9H 99N e R GDP
(b) R 9SR 4¢3 W GDP
(c) Y AN W GDP

(d) =gl

a9 2022-23 # frg e wfafafer grr @ 37.

HaTfereh gig o &St ohi T3 2
(a) &M

(b) fafmfo

(¢) Frmior

(d) SIUR, Bled, §eR 3iife

LT 3T ol A= i fafer fefafaa 9 q 38.

forT Ux smeaRE & 2

(a) T g AT TN WO, 2008
(b) eI T IS T T, 1968
(¢) T I AT @ WO, 1963
(d) ST gl

Q 32.

Q 33.

Q 34.

Q 35.

In India, GVA is used for measuring-
(a) Sectoral growth rates

(b) Growth rate

(c) Inlevy of GST

(d) None

Which of the following tax is Product Tax ?
(b) Service tax
(d) All

(a) Sales tax
(c) Excise duty

If the stocks of business firms rise-

(a) It is considered an investment.

(b) It is treated as disinvestment.

(c) It is not related to investment.

(d) Itis considered an involuntary investment.

Which of the following statement is correct true ?

(a) The rate of investment in India is higher than
the rate of saving.

(b) The rate of saving is higher than the rate of
investment.

(c) Both are equal

(d) None of the above

Which of the following is called GDP at the
international level ?

(a) GDP at Current Market Price

(b) GDP at constant market price

(c) GDP at Factor Cost

(d) None

Which economic activity recorded the highest
growth rate in the year 2022-237

(a) Agriculture

(b) Manufacturing

(¢) construction

(d) Trade, hotel, Communication etc.

On what is the Method of measuring national

income is on which of the following based ?

(a) United Nations System of National Accounts, 2008

(b) UN system of National Accounts, 1968

(c) United Nations system of National Accounts,
1963

(d) all of the above
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Q 39.

Q 40.

Q 41.

Q42.

Q 43.

Q 44.

Q 45.
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7 & 9 fr9 & T HET ST WA Q 39.

%_
(a)
(b)

USIeT JeIe W Hegd SIS Yook
T ek

(c) T T=dl o9

(d) % weamor oy

GDP I UTHT H-

(a) T axgell & IIG I WiEERAd fRm ST
T |

(b) T oRqsl IR Wael % SARA i GiAfe
[ERIE BIRCIFY

(c) e sife et SR Uansti o SeareH ol aftferd
foran ST =R

(d) @i sifem oqall 3R Harsli & IEH & SR
e o1 et e T R

Frafafea & @ S —arad 2-
(a) GNP-NFI=GDP
(b) GNP+NFI=GDP
(¢) GNP-NPI=GDI
(d) GNP-NPI=GDI

T & wet o1 gATa Shifste-

(a) GNP - 3Tce] R +HfsHel = GNI
(b) GNP, - 3Tl R + Hiewel = GNI
(c) GNP, _- STHcIe] &R + WfeHe! = GNI
(d) GNP + et 31ee %3 = GNI

NNP Eiare-

(a) GNP -+ ¥cTe™
(b) GNP, + qee™
(¢) GDP_-NFI

(d)

GNP - JoT

TR ohT TATHAT W Hilkeren! swriea fora  Q 44.

HATAT & T Tl Tt & ?

(a) foaoae™m

(b) =T SR AT et

(c) Wifeaeh 3R HEHH Hi-o He™
(d) FRURE FE T

TTA | T H WP Ue-3' | o o Q 45.

%_
(a) Q= (b) sl
(c) ©& (d) R

Q 40.

Q41.

Q 42.

Q 43.

Which of the following can be considered as
carbon tax ?

(a) Central excise duty on petrol production

(b) Custom duty

(¢) National Sanitation Cess

(d) Agricultural welfare cess

In the calculation of GDP-

(a) Production of all goods should be
included.

(b) Production of all goods and services should be
included.

(c) Production of all final goods and services should
be included.

(d) Themarket values of the output of all final goods

and services should be included.

Which one of the following is correct ?
(a) GNP — NFI = GDP

(b) GNP + NFI = GDP

(c) GNP — NPI = GDI

(d) GNP — NPI =GDI

Which one of the following is correct ?

(a) GNP — Indirect Taxes + Subsidy = GNI
(b) GNP, — Indirect Taxes + Subsidy = GNI
(c) GNP — Indire Taxes-Subsidy = GNI
(d) GNP + Net Indirect Taxes = GNI

NNP,_is-

(a) GNP wp * Depreciation
(b) GNP _ + Depreciation
(c) GDP , — NFI

(d) GNP w» — Depreciation

India's NSO works under which
ministry ?

(a) Ministry of Finance

(b) Ministry of Commerce and Industry

(c) Ministryof Statistics & Programimplementation

(d) Ministry of Corporate Affairs

The 'Pent-up' demand which was recently in the
news is related to-

(b)
(d)

(a) Foodgrains Vegetables

(¢) Milk Car




Q 46.

Q 47.

Q 48.

Q 49.

Q 50.

TR ook FerTah Ted Hater ot AT ahar 2 2
(a) o TR T
(b) T T 3 T o1

(c) faerme 3R ferorean

(d) feerma 3R ggresfa

T 2022-23 & T2 uTe] goat W gfg W
T FATE ?

(a) 16.1% (b)  11.2%

(¢) 10.2% (d)  8.9%

FAAH TRAE G D P A OaiRIeh INTe R eehe ?
(a) U (b) frEwm

(¢) T (d) 3|

g aeA-TTRIT S e ?

(a) GDP ¥ ¥ fafd st €1
(b) fEid sg9 ¥ GDP wedi &l
(¢c) MM 9849 GDP Tedi 2|
(d) 3@ 984 ¥ GDP FH A& |

W o T2 fore Ui ot faerra Yot 3tferen
SugeR it ?

(a) T smenRa foeema

(b) ST e ferepra

(c) foemm smenfia soum

(4) faom saia ot

Q 46.

Q47.

Q4.

Q 49.

Q 50.

Laffer curve indicates the relationship between ?
(a) Tax rate and tax revenue

(b) Work rate and tax revenue

(c) Development and inequality

(d) Growth and inflation

What is the estimated growth rate for the year
2022-23 at current prices ?
(a) 16.1% (b)
(¢c) 10.2% (d)

Whois currently contributing the most to India's GDP ?
(a) Consumption (b)
(d)

11.2%
8.9%

Investment

(c) Exports Imports

Which of the following statement is correct ?
(a) With the increase in GDP, exports increase.
(b) GDP increases due to increase in exports.
(c) GDP increases due to increase in imports.
(d) GDP is decreases with increase in imports.

Which type of development strategy would be
more suitable for India ?

(a) Export-Led Growth

(b) Consumtion-Led Growth

(c) Growth Led Consumption

(d) Growth Led Exports
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